
STYKLISTE
Side 1

MODEL HR2450FT

Pos. Art.nr. Betegnelse Stk. Note

007 921923-8 SKRUE M8x120###(265583-9)   1
008 417630-4 GREB HOLDER (HR2440)   1
009 135302-6 SEITENGRIFF KPL.   1

INC. 7,8,90
010 266069-6 SKRUE   4
011 417794-4 STØVKAPPE (HR2450)   1
012 162229-7 OMSKIFTER KOMPLET (HR2450)   1
013 213278-8 O-RING 17 (HR2440)   1
014 183441-6 GEARHUS SÆT   1

INC. 15
015 153290-5 HYLSTER (HR2440)   1
016 233929-7 FJEDERRING 29 (HR2450FT)   1
017 267782-9 SKIVE 31 (HR2450FT)   1
018 233401-9 TRYKFJEDER 32 (HR2450FT)   1
019 227109-5 TANDHJUL 51 (HR2450FT)   1
021 153696-7 CYLINDER (HR2450FT)   1
022 267229-3 SKIVE 28 (HR2440)   1
023 213074-4 X-RING 9 (HR2450FT)   1
024 324400-3 SLAGBOLT (HR2450FT)   1
025 324402-9 RING 10 (HR2450FT)   1
026 213232-2 O-RING 15 (HR2440)   1
027 324216-6 O-RING HOLDER   1
028 213073-6 O-RING 9 (HR2440)   1
029 233917-4 RING 28 (HR2440)   1
030 324214-0 STEMPEL (HR2440)   1
031 213227-5 O-RING 16 HK0500   1
032 331632-5 STEMPEL (HR2450)   1
033 267104-3 SKIVE 12 HR2400   1
034 324215-8 STIFT   1
035 267104-3 SKIVE 12 HR2400   1
036 211012-0 KUGLELEJE 606ZZ   1
037 961003-8 LÅSERING S-7   1
038 233343-7 TRYKFJEDER 7 (HR2450)   1
039 331634-1 KOPLINGSRØR (HR2450)   1
040 324248-3 TANDHJUL (HR2450)   1
041 219014-0 KUGLELEJE (BHR200)   1
042 226550-9 TANDHJUL 26 (HR2440)   1
043 266273-7 INV.SEKSKANTSKRUE M4X12 (4604)   2
044 345179-3 LEJEAFDÆKNING (HR2440)   1
045 267234-0 SKIVE 8 (HR2440)   1
046 211032-4 BALL BEARING 608ZZ   1
047 324212-4 RING 8 (HR2440)   1
048 213725-9 O-RING 68 (HR2440)   1
049 153687-8 HUS KPL. (HR2450FT)   1
050 213380-7 O-RING 24 (6805BV)   1
051 210060-6 LEJE 609LLU HR2430   1
052 267231-6 SKIVE 9 (HR2440)   1
053 240084-8 FAN 60   1
054 515668-4 ANKER (HR2440)   1

INC. 51-53,55,56
055 681636-0 ISOLERINGSSKIVE (JN1601)   1
056 211021-9 KUGLELEJE 607LLB (603D)   1
057 266052-3 BLIKSKRUE   2
058 419201-3 FELDAFDÆKNING (HR2450)   1
059 633488-5 FELT 220-240V (HR2440)   1
060 417973-4 MOTORGEHAEUSE   1
061 850813-7 TYPENSKILT (HR2450FT)   1
062 689111-0 GUMMI   2
063 643988-7 KULHOLDER   1
064 819063-3 MAKITA KLÆBEMÆRKE   1
065 191962-4 KULSÆT CB-419   1



STYKLISTE
Side 2

MODEL HR2450FT

Pos. Art.nr. Betegnelse Stk. Note

066 643989-5 KULHOLDER (HR2440)   1
067 815983-9 SERIE-NR-SKILT (HR2450FT)   1
068 650508-0 AFBRYDER TG813TLB-1 (HR2440)   1
069 153284-0 GREB F/MOTORHUS (HR2440)   1
070 265999-8 SKRUE M4X25###(266374-1)   1
071 682566-8 STUDS 10 (RP0910)   1
072 665890-4 LEDNING H07RN-F###(P-26185)   1
074 687052-4 KABELKLEMMEPLADE (4100NB)   1
075 265995-6 BLIKSKRUE 4x18###(266326-2)   2
076 265999-8 SKRUE M4X25###(266374-1)   2
077 421494-0 LABYRINTHRING 19 (4304)   1
078 417795-2 LåSEKNOP (HR2450)   1
079 233341-1 FJEDER 3 (HR2450)   1
080 226399-7 TANDHJUL 10 (BHR200)   1
081 265999-8 SKRUE M4X25###(266374-1)   2
082 345363-0 OMSKIFTERPLADE (HR2450)   1
083 961017-7 STOP RING E-3   2
084 417796-0 FØRINGSHOLDER (HR2450)   1
085 233344-5 TRYKFJEDER 4 (HR2450)   2
086 961011-9 STOPRING E-4   1
087 941102-2 SKIVE 5   1
088 233342-9 TRYKFJEDER 6   1
089 163430-7 REDUCERINGSPLADE   1
090 345280-4 MØTRIK (HP2051)   1
091 631471-6 LYSDIODE STYRING (HP2051F)   1
092 267271-4 UNDERLAGSSKIVE 9 (HR2432)   1
093 324401-1 MUFFE 9 (HR2450FT)   1
094 194080-7 OMSKIFTER SDS-PLUS (HR2450FT)   1

INC. 95-111
095 286263-4 STØVSTUDS 35 (HR2440)   1
096 233940-9 RING 19 (HR2440)   1
097 418217-5 AFDÆKNING (HR2450FT)   1
098 345333-9 STOPPER (HR2450FT)   1
099 216022-2 STÅLKUGLE 7.0 HR160DW   1
100 345187-4 FØRINGSSKIVE (HR2440)   1
101 233916-6 SPIRALFJEDER 21-29 (HR2440)   1
102 267279-8 UNDERLAGSSKIVE 21 (HR2450FT)   1
103 324355-2 VÆRKTÖJSHOLDER (HR2450FT)   1
104 216013-3 STÅLKUGLE 6 (LF1000)   2
105 231669-1 FJEDER 31 (HR2450FT)   1
106 345334-7 RING (HR2450FT)   1
107 418218-3 DÆKSEL (HR2450FT)   1
108 216018-3 STÅLKUGLE   1
109 345335-5 BLADFJEDER (HR2450FT)   1
110 267270-6 UNDERLAGSSKIVE 24 (HR2450FT)   1
111 233924-7 RING 21 (HR2450FT)   1
A01 324219-0 DYBDEANSLAG   1
A02 824695-3 TRANSPORTKUFFERT###(Q241)   1
A03 194079-2 SELVSP. BOREPATRON   1



EKSPLOSIONSTEGNING
Side 1

MODEL HR2450FT


